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RATIONAL NUMBERS

1. Find ten rational numbers between


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sHgw2MoLOBJV

° Watch Video Solution

2. Find five rational numbers between. (i)

2 4 =~ —3 5 ... 1 1
3 and 5 (i) —5 and 3 (iii) 1 and 5

o Watch Video Solution

3. Write five rational numbers greater than 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_sHgw2MoLOBJV
https://dl.doubtnut.com/l/_S42tWIQP5z6d
https://dl.doubtnut.com/l/_RMdNZDrLkf3V

4. Find ten rational numbers between

3 3
5 and

o Watch Video Solution

5. Represent these numbers on the number

, —d
line. (i) — (||) &

o Watch Video Solution



https://dl.doubtnut.com/l/_1BYqip0WsOS9
https://dl.doubtnut.com/l/_oAUg9MF3Jefx

-2 -5 -9
6. Represent 1 110 11 on the number

line.

o Watch Video Solution

7. Write five rational numbers which are

smaller than 2.

o Watch Video Solution

Solved Examples


https://dl.doubtnut.com/l/_EpQUMMBlaso6
https://dl.doubtnut.com/l/_TLogB3vC8saf
https://dl.doubtnut.com/l/_qotmWI6r1NrQ

1.Find — X — X — X
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-4 3 15 —14
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Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qotmWI6r1NrQ

2. Write the additive inverse of the following:

21

W =7 .
079 W 135

o Watch Video Solution

: : , 13
3. Verify that ( — ) is the as x for (i) z = T
(i) & — —21
e

o Watch Video Solution

4F'd2><_3 L 37 ]



https://dl.doubtnut.com/l/_iLndLX2Lwrx7
https://dl.doubtnut.com/l/_qE9YTOAu4zvu
https://dl.doubtnut.com/l/_zi18Zsp5JWBH

o Watch Video Solution ‘

shind >+ (Z9) 4 (Z8) 4 (2
-ring = 11 21 22

° Watch Video Solution

6. Write any 3 rational numbers between and

0.

o Watch Video Solution



https://dl.doubtnut.com/l/_zi18Zsp5JWBH
https://dl.doubtnut.com/l/_SoFtahaUlDsX
https://dl.doubtnut.com/l/_eq3k9uiAi6x1

7. Find any ten rational numbers between

-5 5%
- ad 3.

o Watch Video Solution

1 1
8. Find a rational number betweenZ and 5

o Watch Video Solution

9. Find three rational numbers between

1 dl
7 and <.

f


https://dl.doubtnut.com/l/_w2A57CTlUOH6
https://dl.doubtnut.com/l/_aeN2mdIghC1c
https://dl.doubtnut.com/l/_HBNNlE5kaR7f

o Watch Video Solution

6 -7
1. Multiply — E by the reciprocal of —— 6
A 96
T 91
- 34
T 91
c 96
91
5 34
91

Answer: A


https://dl.doubtnut.com/l/_HBNNlE5kaR7f
https://dl.doubtnut.com/l/_xjWwsleVoFpT

° Watch Video Solution

2. Write.(i) The rational number that does not
have a reciprocal.(ii) The rational numbers that
are equal to their reciprocals.(iii) The rational

number that is equal to its negative.

o Watch Video Solution

3. Fill in the blanks. (i) Zero has reciprocal. (ii)

The numbers and are their own reciprocals (iii)


https://dl.doubtnut.com/l/_xjWwsleVoFpT
https://dl.doubtnut.com/l/_HbolFc5fUrab
https://dl.doubtnut.com/l/_nBGFTbCxI4hh

The reciprocal of ( — 5) is. (iv) Reciprocal of

1

g where x # 0 is. (v) The product of two

rational numbers is always a. (vi) The

reciprocal of a positive rational number is.

° Watch Video Solution

4. Using appropriate properties find. (i)

° Watch Video Solution



https://dl.doubtnut.com/l/_nBGFTbCxI4hh
https://dl.doubtnut.com/l/_1rCU9m2wBUcf
https://dl.doubtnut.com/l/_Kih5SSs5d5c9

5. Name the property under multiplication

used in each of the following. (i)

-4 x1=1x -4 (ii)
5 5
13 -2 -2 —13
—_— X — = X (iii)
17 7 7 17
19 29
—_ X N
29 19

o Watch Video Solution

6. Find the multiplicative inverse of the

: . Lo —13 1
following. (i) —13 (i) 9 (iii) T (iv)

0 B w1x 2 —1
V) — — (Vi) —
8 7 5%

l a Watch Video Solution


https://dl.doubtnut.com/l/_Kih5SSs5d5c9
https://dl.doubtnut.com/l/_xJZGHRpjvas9

7. Tell what property allows you to compute

1 1
— X 6><é as| — X 06 xé.
3 H 3 3

° Watch Video Solution

. . 11
8. Verify that ( — z) = « for (i) z = i (ii)
13

r= — —
17

o Watch Video Solution



https://dl.doubtnut.com/l/_xJZGHRpjvas9
https://dl.doubtnut.com/l/_OOyoc14a1JHs
https://dl.doubtnut.com/l/_TZ7QhRgWKaKP
https://dl.doubtnut.com/l/_SXgxsm9FAfD2

9. Write the additive inverse of each of the

foll (M) =) —> (i) —2 () —
oowmgl—u T 1] _—5 IV—_QV
19
—6

o Watch Video Solution

10. Is 0.3 the multiplicative inverse of (3)— ?

1
3
Why or why not?

° Watch Video Solution



https://dl.doubtnut.com/l/_SXgxsm9FAfD2
https://dl.doubtnut.com/l/_1eDIHQhez2d6

1. Is 9 the multiplicative inverse of —1§?

Why or Why Not?

o Watch Video Solution



https://dl.doubtnut.com/l/_KL8ITs0HDe3t

